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3 How many common tangents can be drawn for two \
15 s . o disjoint circles? 1
! ] -~ ey - T 1 _1
| g I ) | L,FL"'/P_‘ J‘lf‘ ﬁur;_}';,.':‘ug.r'd’_c_u;ﬂub?c_sl;d; i 2|
| ; A pair of chords of a circle subtending two | i
i Parallel Over lapping Incongruent Congruent | central angles is: i _:
[ L S Sl L ntATUVL by 3 I
_ Tangents drawn at the ends of digiie circleare | i
Perpendicular Collinear | Non-parallel Parallel | 1o each other. 3 |
| - | = -'  — e
! St LY A 53 - bl ‘. /Cf;.,.lu' &;/lu 4 |
i ; ; , . Line segment joinin t of the circle to the ] i
Perimeter | Radial segment .Bmmeter ! Circumference | center is called: R o
I-tan2@ | 1+cos’® l+tan2@ | l-sin?@ & sec?@= S !
— e —
i 12000 3600 630 J 360 20°= L ® |
'\ L a.rx_.-uf e bl QL X f"of 7 =:
2 . ' um of the deviations of variable 'X' from its mean is | i
| Same | ! alwa:,rs | i
| | 1 et r?\“B;‘ﬁAqHﬁ s |
B-A | o e brisls : '.

[

If AcB ,then A - Blsequallo e -
‘,_.;LLJ,{M)(EWAK‘:IUI}_, 9<|

T st | el Vs
| _Firigset | Null set t | Infiniteset |Theset {x|xeW ax <101} is: L
! 4 - el 1
| .;.f'L.l’ i /_-?I I3l /__..?_!’/_" -ﬁ & +T);—__|}_ T
_ne ! An improper 7% +1 i i
Anidentity | T ' An equation : P . | O |
v r @ fraction x+ D=1 is: . g
e L | AL X | BB | codWinab=x: yf| 11
L,___x N h_ - - b_ y | X ¥ ifa:b=x:ythen allcrnendop_ropenils P (-
| w2=l L wi=k | uske? E ”"’uu"rzﬁl
o - | cofhBtn /
: =9 i L = EEI k _j_ s
[ 2p - P | p | p Lif @ . B are the roots c_.irfﬂ
| ‘ | i ,c:—f_Enf.2 +qx +r =0, then sum of roots 2c and 2B is: : .
| | =
l| o, 0? | .- (| | o | djl;»::&d?l 14 l
! S| T ! [ Two square roots of unity are: — |
[| i i i g;iﬂ(ﬂ_j,«bﬂf axZ +bx+c=0 ....bLa-Lj;LvJ.-m', 5
4 ! 3 i 2

LThe numhe:r of terms in a standard quadratic equation | |
[ax2+bx+c=0is
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Write short answers to any SIX parts. -é@kfﬁﬁfﬁfl?.ig:.(jf

Solve by factorization:  x2-x-20=0 x2-x-20=0 :H;,"’-:u”d-_-.g;% (i)

Define reciprocal equation, __éuéiﬁ,falsbﬂg” (i1}
-é—(ﬁ’.‘.’ﬁfbuurffd;_épﬂﬁf 2px? +3qx —dr =0 =hl- (i)

Without solving the equation 2px?2 + 3qx —4r =0, find the sum and product of its roots.

Evaluate: (9+ 40+ do? )3 (9+do+40? )t . = ebed (i)

Write the quadratic equation having the roots ~! » =7 =, =7 :af..:,uu;j’.;

-'.i;r'-.r.!l”-:'—-!’-.'u; a’p? ;U:fuguﬂ 4x2 5% + 6 0

If . B are the roots of the equation 4x2 — 5x + 6 =0, then find the value of ap?. c

£ (V)

I B /’J‘ {vi)

LS i

Find the fourth proportional to 8 . 7 . 6 Q...#'r}”\._zt;i?:;f B, 7.6 (viii)
3 =2:4:2x+3:7 Ix-2:4y : :«.:.d-‘.':l"--éufxuie-f':—'éé_-} (ix)

Find x in the given proportion:

Write short answers to any SIX parts. _ér..-,[.tz/*"".f_,!z Lg;.gjf

Find partial fracticns of ®ED&=D - .\9 -Erp oz -(;ﬁx—_--ﬁ- (i)

Find the sets X and Y if XxY = {(&; v(e,a),(d,a)} ,ﬁﬁé';}v Y ool X e (i)
A Seabln A={1.2,3,4,5,6}B={2,4,6,8}/ Gii)

fA={1,2,3,4,5,6}.B={2.4,6 en prove that ANB=BNA
LRG0 (ab) e (v

Write all the subsets of the set { a, b }o

Define a function, \ WSS ()
Name two measures of wcy. -_&_?f}td:ufgniub’-;.jﬂ} (vi)
Find harmoni &andm: [ X T ] s [ 8] 2] &tionbind L ass i

[
Q ~Eread Cund 479 009286 093« 82 Lf"gﬂ-ggcé;;diur’fé&gﬂ;_; (viii)

On 5 terms tes mathematics, a student has made marks of 82, 93, 86, 92 and 79. Find median for the marks.
Define mode. -é-_@;u';ﬂc (ix)
ey P g §

tan0+1an?0 = tan20sec?® ok (i)

Define inverse variation,

Write short answers to any SIX parts.

Provethat:  t1an? 8+ tan2 @ = tan2 O sec2 B

What are trigonometric ratios? ?ugsxiﬁ)f’; Jju;f (ii)

Define right angle. S 6 (i)

Define circumcircle. _.éf.'m..éﬂ,;&}h&,"v (iv)

Define secant of circle with diagram. G A e wbFf
(&)
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2.
Define circumference of a circle. -__é.-;_-jl_ﬁ.&f&..?h (vi)
Define cyclic quadrilateral. A f;ﬂ;’.’g B (vid)
Define radius. _EEw Al (vidh)
Define incircle. -é*—é‘/;d”:‘buj (ix)

e S A i 08 L g feinleirde §f pipaaa

Part - I, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Solve: K%+54= Iﬁy:;. x% +54=15xj3-_ _.4':()’ (—ﬁjl)
nJ¥ 'I'Ju’.'u/_l x2—x+p? =0 = bl » p ()
Find p if the roots of the equation x2 _ x 4 p2 = () differ by unity. o
P e Bn e 516 PG L I B Ugenl 314 o, )
If 2 is added in each number of the ratio 3 : 4, we get a new ratio 5 : Ggfind umbers.
: T . | I 7 ()
Resolve into partial fractions: G- (x-2) ._._ffuf;/d:z 2

10).6 (AUBY =ANB Lo e (L)
Prove that (AUB) = A" B’ such that U = {1, 2, 7.8,9 10}, A={1,3,5,7,9},

B={23,35T7}

Find the standard deviation 'S’ of: W, 3,15,10,18,5 :.g,’:'p'*' 'S JIﬁJJL.u (&)

o thats (tan© ) (cos O + sin B) = sec O + cosecH Sk ()

_UsF3 8 (3 f@gyJ CA . BC ABLUWIL JLEE ki ABC 2 (&)
Y O O

Inscribe a circle in 'Q\BC with sides | AB|=5cm , |BC|=3cm and |CA |=3cm.
Also measure its.in‘tadius.

..%t‘ﬁ:;rf{.;: s S8 n;/h’":?)};gff;,?;ﬁx.. }l:.fﬁ‘{-:-:f
Prove that@ straight line, drawn from the center of a circle to bisect a chord (which is not a diameter) is
perpendicular to the chord.
~ OR - . -

Y Py LU S feo i hati§hine iSEE =k

Prove that any two angles in the same segment of a circle are equal.
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